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4, The graph shown below represents the velocity fucntion for a particle. At what approximate times is
the particle speeding up? Use interval notation
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5. use calculator

Two particles move along the x-axis, and their positions for 0 < t < 2m are given by

x;= cos(2t) and xa(t) = e? — .75 for what values of t in that interval do the particles have
the same velocity? v ,L -
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6. for the curve x +y4 =10 @ Y

a. Find the points at which the curve has a horizontal tangent(s)

b. find the equation of the tangent line at the point where y=1

d‘y
c. fmdd >, be sure there are no == ‘s in your answer, and simplify comp!etely
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